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Unit 6 Review Name MQA/\

J
Intro Precalculus
#1 — 4: Solve each system.
~In(x=3)—y =5 ~7 =
- y+5x =11
1) Solve by graphing: { _gx +y=-5 2) {3}/ +20x = 44
i 0
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5) At a grocery store, a tub of ice cream is on sale for $1.12 less than the regular price. The cost of 5 tubs at
regular price is the same as the cost of 7 tubs at sale price. Let r be the regular price of a tub of ice cream and s
be the sale price of a tub of ice cream. Write a system of equations that can be used to find the values of

variables r and s. Then find r and s.
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7) Create and graph a 2-variable linear system that is incoiqsislent. .
WSWEEs =y ] no soution A
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8) Show work fo determine Wwhether the triple (3, —1, —2) is a solution to the system:
{ x—=3y+2z=2

S5x+y—-z=16 NO+ @ go\uhof\]
—4x -2y +3z = -2 —

2x+y—2z=-1
9) Solve the system: {3x—3y—z=5 ( \)'\) \l>
xX—2y+3z=6

x—y+3z=8 )
10) Solve the system: {3x +y — 2z = -2 \(\ \—' \ ) Q’

2x+4y+z=0




) Find the solution of the system given by the line graphed and y = x2 — 6x + 9.
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#14 — 15: Graph each system of inequalities.

y > 3x +2 xty>1 —> 97'X+|
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16) Use the feasible region graphed below and the objective function z = 30x + 45y representing profit.
Test the values at each corner of the graphed region to find the maximum profit.
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